PART—A

s IN A SENTENCE i

a way of :5&2&85&5@ the world, a language represents

—_— 7%
P

OWUW&ZQ oF EOE.U <ts of a sentence, the parts of which h : K
P o ko e ST T o i e U et gt e s g e s
o sw_..aawnmﬂ_w. ﬂmﬂaﬂﬂm awwm.__wo =m mmn Ea:.w.nw to rearrange the jumbled _u.m s
and mark your Tesponse accordingly. . (a) PSRQ b} SRPQ
you ever considered {c) RSPQ @ qpsr_"

1. to be successful what it is as a human being Eollllllmll\

P Q R
'5. for India’s future mathematics and mathematical thinking will be very important
P
Q R

(a) SQPR RQPS

Q ) RQPS ./ it is recognized that
fc) QRSP (d} PRSQ . s

{a) ORPS (b} RPSQ
2. there is i . . ; t

ere is in all M,.mﬁbnn a single, surrender nM_ the idea tha {c} QRSP {d) mom_u\.

many people today are willing to:

authoritative truth to be discovered and defended 1
& 3 3 1 . P Q
Y programmes integrated with general education  the preparation of professionals
{g) RPSQ () SPRQ § ° .
() RPQS (@ SQPR @ sreQ” | 0 S
{d} PQRS

() SPRQ

3. for yourself the implications of death, if you do not reflect and understand

and should mwm.w “the way are certainly very important,

P Q
P Q
from one preacher to another Yyou will go endlessly we think about politics the issues raised by feminists and multiculturalists
R s " S

. {b} RSPQ

{a) SREQ (8) QPSR fa) RPQS
(d) mozﬂ\
] 3 [P.T.0.
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mﬂnm.

io alt
{ o plant is IDIOMS AND PHRASES

: .n.nuam : Given below are some idioms/phrases followed by four alternative mcanings for each.
Choose the most appropriate answer from among the options {a), (b), {c} and (d).

8. by which the genetic material ©
P

moré resistant_to

ps to make it
R

rha
Pests and enhance its nutritional value B

Q , A queer fish 16. Be in the running
geneti dification (GM) is the science (a) A strange unumon\\ fa) In a very bad state to speak
clc modification is the
S {p) A good person b} In a powerful position
g . .\ {fe) An unlucky person (e) Tn a good position to win—~
{a) QRPS {b) SPRQ (d) A lucky person d} In a losing position
Q g
¢/ RSP d) RPQS Eat like a bird 17. A seca change
fe) Q . 2
fa) Eat very quickly {a} Change in the sea tides
{b) Eat a lot ; (b} A completc change.~
] tinuousl . i
9. a much wider array of perspectives  the editors of the present work {c) Eat con . sly . fc} Change like sea
(d) Eat very little”" (d] Changed sea with pollution

P Q
18. A pearl of wisdom

the history of social reforms from argue the need to understand (@ Be like a bull () An important event in one’s lifz—"
R ] :
’ fb) Argue about somethigg—" {b) An impertant person of wisdom
fa) Owﬁ {b) QPRS~" _ (c} Agree with semeone fc) An important picce of advice
{d} Think about the horns {d) An important thing in one's life
{c) RSQP {d) SQRP .
4. Early bird 19. Be in seventh heaven
“{a) Low flying {a) To be extremely sorry
(b) Latest fb) To be extremely wise
10. for which she fought till the end as a champion of women’s rights, {c) Ancient avian () To be extremely sad
P A
g Q {d) First E.J..@_\ {d) To be extremely gmﬁ‘
Pandita Ramabai was truly remarkable as a pioneer in women’s education and ,u.m.nw." in the pink ) 20. Be in the red -
R s i {a} To be very healthy {a} To owe money to a bank
SR f {b} To be very colourful {6} To get money from one’s family
a QP
B} QPRS {c) To be very sad {¢) To be in danger of being n&:mw.w\

To be very rich {d} To be in favour of needy people

e xmmi ; (d} PORS

DFRG-U-TAG/45D 4 5 [P.T.O.



SYNONYMS

i follo
ntence with an underlined Eo.i EnE.p_ |
t the option that jg ncarest 10 _.J

Directions : Each item in this section consists of a s¢
(d}. Selec

by four words/group of words (a), (B), (d and
to the underlined word and mark your response

in the Answer Sheet accordingly-

&
26, The cifort-was to harness the p

ower

21. Ravi told his fricnd that he had no nature. 31. Human craving for comfort leads to
intention to malign him. buse anxiety.
; = fa) adus .
f9), Denin ) benefis”” (a) like
(b} - slandga” (o PPy ) dislike
{c] praise () control {e) discomfort
d, eet . lacen
{d} gr 27. The fickle nature of humans is at {d) complacency
22. Sheela appeared to be vexed. the cause of great innovations. 32. His writings on the subject are obscure.
{a} clear fa) ___SoEmmmW\ {a) E:l@\
{b} calm’ (b} consistent {b) vague )
fc) displeased fcj strong \ fc) obvious
(d) uncomplicated {d) wily {d) uncertain
5 i :
23. Do not hold any preconception about 28. The floed situation dunng the monsoonis 33. The mn?nanwEw of the team have been
people. T this year was calamitous. _ _ monumental in the last ten years.
faj notion~" {a) abundance ja) enormous .
(b) experiment (b) catastrophi¢” (b memorable”
e} great idea {c) encouraging (c) striking
(d) conceit {d) welcome {d} unimpressive
; 34, His frail appearance was considered a
) 29. He was appeinted as the honorary, sl ¢
24, All mortal ele t rmanent. _
e member of the team. merit.
(a) temporal (@ paid {a) weak
{b) immortal (5] invited {b) delicate
f¢) mnever-ending () accepte u\. () sturdy
(dj divinely~" {d) unpaid {dj big
35. The novel depicts the hapless status of

3 25. The itinérary of the group’s visit to the
hills was given to everyone.

20. The church decided to excommunicate

him for his actions.

certain sections of society.

{a) wretched”

fa) invitation () admit
(b} quﬂam:@\. (b} reward (b} miserable
. {c) schedule {c) nxvm_\ fe} rTural
. {d} names " {d} promote {d) fortunate )

DFRG-U-TAG /49D
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ANTONYMS

‘ ..._u..E_..nnno:a : Each item in this section consists of a sentence with an underlined word followed
by four words (@), (b}, {c) and {d). Sclect the option that is opposite in meaning to the underlined word
and mark your response in the Answer Sheet accordingly.

36. Her ideas have always been eccentric,
fa} special
) u:mbm\
fc} normal
{d) local

37. The land appears to be parched.
(@ dry”
{b) desiccated
fe] wet
{d) scorched

38. The newly made road was smooth.
{a} rTutted
{b} dangerous

fc) winding

{d) mE@.\

39. Plenitude is one major
environmental degradation.

cause for

{a) abundance
{6} insufficiency

fc} E.:EV\\ i

{d) plethora

40. The scholar quoted irrefutable evidence
for her thesis. -

fa) overwhelming
{b) undeniable

(¢} certain

{d) questionable

[P.T.0.



-

SPOTTING ERRORS |
s labelled g

tion has a sentence with three underlined vuﬁ
3 re is any error in any underlin
nding letter, i.¢., (a) or (bj or

ed part. Ind a -

(). I you fin

Directions : Each item in this se
and (g Read cach sentence to find out whether the
your response in the Answer Shect against the correspo
error, your response should be indicated as (d) ,

i i isi ime we fall.
41. OQur greatest glory is not in never falling but in raising every tm

Loy ! =

fc)

e [yo _gpaﬂha me for the truth [ would have told you at that time.

47, 1 1 will be the millionaire I would cradjcate  poverty from the country.

] TERIAwAL =2
No error (@} .E.\ fc)
{d)
No error
No erfo?
(d)
42. Rahim was one of that selected for the award. No erTor
(a) () fe) @
148, A bird in hand is better than two in the bush, ~ No error
43. Sujini has met her old friend Guru before she shifted to Hyderabad two yearsia fa) ®) ..@\ <
@ ) 4
. ’
No error &w The opportunity to attain foundational literacy and pursue a honest livelihood
{d) : (a) (]
44. This monument happens to be one of the old monument in the city. must be viewed as basic right of every citizen. No error
@ ) (e i, 54 f
No error, y
_EM 50, Though there is progress for diflerent directions, why is there no brotherheod?
. fa t] (c)
45. Amit told to Divya that he would come with a reward for her. No error No error
(@) N7 (c) (@ (d)
DFRG-U-TAG/49D 8 DFRG-U-TAG/49D 9 '
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mH.&ﬁmﬂ&&&ﬂm%ﬁ# 50 cm ¥R
25 cm R IR 3 A A uwE A W@ KA

Brii?

fa) +2 SRy

(&) +6 3R

fo) -63my

{d) +3TEre

52. frfafaa 3§ 3 dm-m w, frd siew A 49

Ttk =) Forefim =t ot et 27

fa) VI b I?/R

& I?R fd) VZ/R

53. ﬁﬁﬂaﬂaﬂmﬁﬂmﬁ:manwﬁmﬂm\
q v R i o}, @ wd ot v

nifd T et Eoit?
fa) (3/2c ) @/9¢c
e} 2/3c {d} (9/4¢c

54. T dees % w1 amwan 1w o e
TEHE 800 g 31 W H W 1gem™d
T 99 9§ @ e i WS AR
1'5gem™ w7d@ 99 3= 7@ B T @ 5
2 T Ffiafaa § @ S s ad 87

(o) ¥ S 3R @ BT # dm

(b) Wz @ ¥ 3E B A g STom)
() Y v § @ wmen ok zw B wm)
(d) ¥z A ® 8 3R =9 B i 5@ g

DFRG-U-TAG/ 49D . 10

¥ zom @ g W R R M S
ot @ o = e <TG, W

Eicr el Ruuifd

(@ T

) T2

{¢} 2T

[ 2T

s6. Rrfufaa 3 A fra 71 (Raww) 3 ST
e 1 3 wiaka At 37 _

{a) W IEE SIS
b) A TERE

(c) EnEa

fd) FATER

']

57. 3g=3% 243G ¥ (R, Frfafd 7 43
e i afe @ 27

(o) ifi forere

(b) ¥ QR 1w
fc) Y-TFwE AT T HWEW
{d) y-Usa =1 fafrm

B1, Two convex lensca hayve

]

PART—B

50 cm and 25 cm, respectively, 1f these
two lenses ATe placed in contact, thep
the net power of this combination wjj
be equal to

{a) +2 n:o_u:d..\
(b} +6 dioptre
(c) -6 dioptre
{d) +3 dioptre

E & w. “Which onc of the Hozos__maw terms cannpt

represent electrical power in g circuit?
(a) VI ®) 1R

@ PR @ vig

53. The refractive index of crown elass js
. close to 3/2. If the speed of light in ajr

is ¢, then the speed of light in the crown
glass will be close to

{a) (3/2kc~ B} 4/9)¢
fc) /3¢ {d (9f4)e

54. The volume of a sealed packet is 1 Iitre

and its mass is 800 g. The packet is first
put inside water with density 1 g em™3
and then in another liquid B with

_density 15 g cm™2. Then which one of
‘the following statements holds trye?

@) The packet will float in both water

\

and liquid B.

{6/ The packet will sink in both water
and liquid B.

{c) The packet will sink in water but
will float in liquid B.

fd) The packet will float in water and
sink in liquid B.

" DFRG-U-TAG/49D

foeal lengths of

11

55. A simple pendulum having bob of mass m

and length of string ! has time perisd
of T. If the mass of the bob is doubled
and the length of the string is halved,
then the time period of this pendulum
will be

@ T
b T/2

- fo m‘\

{d 2T

56. In which onc of the following devices,
the light energy is converted into the
electrical encrgy?

{a) Light-emitting diode
{b) Laser diede
{c} Solar cell

{d) Transistor

57. Which one of the following is not a power
of Panchayats under Article 243G7

{a) Land improvement
{6) Implementation of land reforms

fe) land consolidation
consecrvation

(@) Regulation of land revenug~"

and soil

[ B.T.O.




. danta M, =
58. -1 H -1 & W %@ﬂ S an i f=falan 7 A e 71 iR f BB, Maich List-1 with ListIf gng sclect the
% AR Ry Ty 3 W W W IW " correct ONSWET Using the oo
e : e below the Lists @
(a) HEH o
ﬂﬁnﬂmwm.._ ﬂMM_ (b} GRiER _Enwﬂnmﬂ_:aﬂ&
: ; . Anta-mahamatia 1,
A, 33-mgETy 1. wigan & f) T
B. sfrra-wemm 2. YW ¥ WER (@) T 'B. Ithijhakha-mahamatta 2,
C. ymr-ngm 3. T WA | T )
(@ -mahamatta 3.
D. Trefires-agm 4. Wwi & % i 61, P et wRER AR o f Dhamma
. ey TR T T T S
= : fen  (Fiie 3 7 T
malia
@@ A B D 2. Ty # PR T W e
3 2 4 %ﬁﬁﬂﬂﬁﬁ:ﬂﬁ_ n....:.._nmm...
e R 1 TR otie
@ A B D b
3 1 4 T # & Ar-w/AA-8 FE T /A @ A w m\ w
) 3
S 5 fa i . /# A B C D
. ® {b) ¥4 2 3 1 2 4
{dj A B D fc) _.,wﬂ.mwnawum o ”. W m .W
4 2 3
: () a@1nad2 b i B 0B
4 2 1 3

59. FEAgAT o Tl T | T 37

(a} TEES
(b) AME
fe} B

(d) &

DFRG-U-TAG/49D

1803 & adA

62. TR AR TR fER f =,
o |
fa) =gd BRI
(b) =W FEOFEN
{e) F Torrmes
(d) T fammrem

i
{

e W K e seET A

o

{a) Palakapya \
{b) Vagbhata -
fc} Sushruta

{d) Charaka

" DFRG-U-TAG/49D

m.mwu. Who among the following is the author
of the Hastyayurveda?

de given

List-jf
{Function)

Women’s
welfare

Spread of -
Dhamma

Associated 61.

with city
maﬁmam:mmon

:.._.nfmqmn of
frontier areas

13

60. Which one of the following areas was

acquired by the British under the
Treaty of Deogaon, 18037

{a} Cuttack
fb) Murshidabad
fc) Surat

(@ Calicys”"

Consider the following statements :

1. Maharashtra State has the
maximum sharc of national
highways (length in kilometres).

2. The nature of terrain ang the level
of eccnomic development iz one
of the reasons for the maximum
share of national highways in
Maharashtra.

Which of the statements given abeve
isfare correct?

fa) 1 only
() 2 only

fe) Both 1 and m\.
{d} Neither 1 nor 2

62. The activitics or services focussed on

creation, rearrangement and inter-
pretation of new and existing ideas are
relerred to as

{a) quaternary activitics
, [} quinary activitieser"
fc} tertiary activities

{d) sccondary activities "

{P.T.0.



]
|
|
{
1
|

63. .awwgﬂﬁa% ﬁﬁmu_&ﬂw%m
S el W e iR

fir EwEdTER AT R

o w ihe N W Rewed bR RS
w9 ¥ wEEd oK il I5M F T
Ezciledl

T A B - R8T Y
fa) ¥ 1

(b) w2

{0 1323

(@ Fd1ARAN2

64. Trifaa Hedl w frar ff :

L e 7 S SR W P Sl
% _

0. e A A ol i e FE
EeoikdR .

3wl T Aty % et f@ #
21

o # A fre R W@ R/
(@ 1
b} 2
fe) 3

(d) =i T

DFRG-U-TAG/49D

e < 21 7 ¥ RO

34 e e il A

() TR

(b) < o i A A T

(g T

() =GE AN
. @ # P

66, wafy ait B T F

- o T T

@ v @ A G
afir B

) R T T
g Tl B

o i vt g A e A
Y g B

() i e A e 9 R LA
1 #

mﬂﬂﬂﬁuﬂdﬁﬁm@mygﬂmﬁw..
R ol @ deaw @@ A ER T
mﬂmﬂim%ﬂmﬂﬂww

() oEo TEE
(b) =Horiad (FeRa)
() TR (30EH)
(@ 7 AT

14

63, Consider the following statements about
"~ wde Desh ka Aam Nagrik (UDAN)
gcheme -

1. It is an innovative scheme to
develop  the  regional  aviation
ab_.wnn.

o, It creates  affordability  yet
econoemically viable and profitable
flight on regional routes,

Which of the statements given above
is/fare correct?

(a} 1 only
L) 2 o_.__u.\
fc) mon.w 1 and 2

{d) Heither 1 nor 2

64, Consider the following statements :

1. The Sharavati river creates Jog
Falls.

2, The Brahmani river is formed by
the confluence of the Kosi and
Sankh rivers.

3. The Tamraparni is a rver of
Tirunelveli district of Tamil Nadu.

How many of the above statements
is/are correct?

() 1
) 2

w

{d) MNone

\DFRG-U-TAG/49D 15

65, SONAR is a device that is used to
measure the distance of undenwater
objects by a ship. Which of the following
types of waves does it use for this
purposc?

fa) Infrasonic sﬁ<m\

(b} Sound waves in audible range for
human beings

fc) Ultrasonic waves

{d} All of the above

66. Which one of the following statcments

about the speed of sound waves is not
correct?

{a) The speed of sound waves in uz..n\ .
is higher than that in water.

() The speed of sound wawves in
air decreages with increase in
temperature.

fc) The speed of sound waves in
air increases with increase in
temperature,

{d) The speed of sound waves in water

is higher than that in air.

67. The part of the human ear that converts
the pressure variations associated
with audible sound waves to clectrical
signals is

fa) auditory nerve
{b) cochlea

fc; eardrym—"

fd} eustachian tube

: [P.T.0.



68. Frfafas 12 fve uig = waifas wm ww=

TR e gy 7=l % 9y @ & R
o W ¥7

(o) YegitRm
) @
{c) TH

(d) ==

69. 10 g H9M Al TH Tiel F 1 kg ToHH H
e & M s R 300ms™ ' SR
=T s 2| e =51 wRiEe-3n e
fa} 03 m s™?

) 3ms!

{8 -3 ms™!

{dj -03 ms™!

70. HEHIPR TiEfi @ E
(o) e WA ) waf o A
() Tl a0l B g wowe o
el ﬁﬁ.ﬁw&ﬂw&n

(d) afy ol =) gea-aen |

DFRG-U-TAG/49D
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71, wRuTEl % T it wet il 50
e T W F N &

72, 5@ = WA e % e @
Sﬁn@ﬁamﬁ@.ﬂm.@ﬂ@@m
o 2m?

(@) S dwa f et

() T & v f ghs el

(d) i Ee el

73. % Tagn fra freme @ ¥

o) FEHER (MIEAFIS)

(6] W (3F) .ﬂ

(o) T (ST - E

(@ T 4

68. Which onc of the following metals i
most commonly used for making
filament of incandescent electrie bulbs?

{a) Aluminium
{by Silver

fe) Copper

(@) ,E:mms_\

69, Abullet of mass 10 gis ronmuoznm:u. fired
with velocity 300 m s from a pisto] of
mass 1 kg. What is the rccoil velocity
of the pistel?

f@ 03ms™

) 3m ...,.|.Y‘

) -3ms!

(@ -03mst

70. A microphone converts
f

{a) clectrical signals to sound ..ﬁ:_v\..

{b} sound waves to clectrical amw:.mk\.
{c) microwaves te sound waves

{d) sound waves to microwaves

DFRG-U-TAG/49D 17

71. The protein-digesting enzyme secreted by
the stomach wall in case of mammals
is called

fa} chitinasc
b} amylase

f¢) pepsin/”

{d) trypsin

72. Which onc of the following will be

resulted when an anfmal ccll is
surrounded by a medium with lower
concentration of water?

fa) Cell will lose water
{&) No change in movement of water

{e) Cell will gain water

fd) Cell will swell up

73. The digestive enzymes are present in

{a) mitochondria

{b) vacuoles~~
{e) lysosomes

{d) ribosomes

[PT.O.



77. @ 2022 A, Pefafm i B A

74. T & 9w, W= ofn 9o w36 R R il A e P

74, After fcrtilization, the fruit and the sced 77, Which of the following Indian Naval Ships

| are produced by were decommissioned in June 20227
e v wmERE A i Ao
o, B K 5 (a) TR0 e THO ™ F le and ov respectivel.
fram : {a) ovule ary, respectively {a) INS Ganga and INS Nipat
(b) FHQ: VST AR deiE / .
. . _ " 3
(ty e To Tho PHIF afie 3iTR0 Se e B {b) ovary and ovule, respectively f6) INS Nishankc and INS Akshay ~
(c) 3w A, dNiE H AR T GG
, no ovule required
" o s fc) ovary ® {c) INS Khukri and INS Sandhayak
. S._.mn o .ﬂﬁ.m— &
(d) drT2 B, HSRE F AEESE TE icl S 4 {d) ovule, no ovary required

.ﬂ.ﬂ _ﬂﬂo .Ng ‘.wuu: Qn:wo...ﬁ..ﬂo

7. Folten 3 § fired weed/ el () e Tt 75. Which among the following has initiated
¥ o Fml 9 cnfRE @ o e a nationwide nm.mmaﬁ campaign Puneet 78. India signed a deal with which one of
T2rd] A g w3 o g aeerd R & _ Sagar >E._a_“_ et n”o clean m”ﬂﬂa-du\ the following countries to supply
“wita Fr oy ' - beaches and other water ies of MH-60R helicopters to the Indian Navy?
R i 78. R A3 fm W b ﬂmﬁ ; plastic and other waste materials? P v
Hrim = MH-60R ¥efiit & g 15 .
fa) Wialg amsw o R FEna il (@) Indian Coast Guard fa), 1smmg
by WEEEER {To Hio Hio) o) THOEA () National Cadet Corps (NCC) b} France
fc) @ e {b) ¥ {c) Indian zmp._.,%. {c) Russia
e} ¥4 . UK
(@) s v fom (d) Swachh Bharat Mission {d)
{d) Ao THe e
i TEam e CECL 76. Which among the following was the host 79, With reference to India’s defence, the
76. %I TR A ;, 2022 %81 . 1 *  country of the United Nations World terms ‘Surat’ and Udaygin® refer to
T Prafafias 8 @ PR-m a7 79. WA 6w ¥ vl ¥, o e Enviromment Day, 20227
Tt e §7
{a) A {a) Canad {a) coast guard patrol boais
. a} Canada
fa) TEEF T -
{by S ) v el ) mE_nn_nB\\\. ft) cargo helicopter,
| o S & P () South Africa e} maritime patrel aircrafis
; .
{d) ani@ (d) geur (d) Brazil {d) warships
RG-U- 19 [ P.T.O.
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.80. Who among the following laid the 83. Which one of the follewing rivers in India
foundation of the Vijayanagara Empire? wasa not crossed by Alexander and his
army?

(@) Marihara and Bukin—~"
{a} Hyphasis

{5} Krishnadeva Raya
[{3}] }nnum:\nw\
Raya
(e} Rama Ky fc) Hydractes
{d) virupaksha Raya {d) Hydaspes
&1, The book, Kalila wa Dimna js an Arabic 84. Who among the following has described
translation of the the medieval Indian postal system as of

two kinds—the horse-post called Ulug'
{a) Hitopadesha and the foot-post called Dawa’?

{8} Panchala Ewm‘\.

{c) Suryasiddhania

fz) Al-Biruni
{#} Duarte Barbosa

{c} Ibn Battuta

{d} Kathasaritsagar
{d) Seydi Ali Reis

82. Who among the following initiated the

Bhoodan Movement? 85. At which among the following Harappan

sites are fire altars [ound?

fa} Ram Em._"._..wu Bismil {a) Kalibang mb\\
fb) Vinoba Bhave ) MHarappa

fc} Mahatma Gandhi fcJ Mohenjo-daro
{d} Kanhu Murmu {d} Rakhi Garhi

DFRG-U-TAG/49D 21 [ P.T.O.




86. WW H ™ A wEiE AEkkm s W

Toam Rl

1. T@ Faen @ few 7 (Fha) 83 3
forfe =% ofts v F) ke
form w0 W B

2. T i wwen Bt faa 7= (Fhm)
3 R fafm w0k TR (F) T=E B
iR f = s R

3. T e % TE & A fofie s
TG 9 &) Sl e o g
2

I & A feet o wlt {8
fa] 1
) 2
€ 3

(@) =

86. Consider the following statements on

computation of density ;

1, FPhysiological density can be
computed by dividing the total
population by the net cultivable
area.

2. Agricultural  density  can e
computed by dividing the total
agricultural population by the net
cultivable arca.

3. Pepulation  densily can e

computed by dividing the total
pepulation by the total area.

How many of the above statements
isfare correct?

{a}, 1

w 2.7

fej 3

{d) None

B8. Consider the following statements about

anticyclones :

l. Anticyclones are high pressure
systemas.

2. Airin the centre of the system must
be subsiding,.

3. Anticyclones are characterized by
converging winds.,

How many of the above statements
isfare correct?

fa 1
(b} 2
fe) 3
{d) None

89, Which of the following statements isfare

correct?

1. The Earth’s crust is brttle in
nature.

2. The mean thickness of the oceanic
crust is 15 km, whereas that of the
continental ¢crust is areund 30 km.

Select the correct answer using the
code given below.

fa) 1 only
fb} 2 only
{¢) Both 1 and 2~

87. BR Tl wifiEt w G W Fie Prafafw

. fd) Neither 1 nor 2
3 87. The formation of ‘tors’ on small rocky
# ¥ e weElia 7 hills is associated with which among 20, In January 2020, the administration of
the following? which of the following Union Territories
(@ 3 = has been merged together?
{a) Granite {a) Daman and Diu and Puducherry
. e (b) Puducherry and Dadra and Nagar
(b) A () FRARAEFH

{b) Limestone Haveli

)- e | N T s R
(e) - g .

e} Puducherry and Andaman m.amw\\

1 i fc) Allavial Nicobar Islands
fram i
() T T sfeAm v gl {d} Dadra and Nagar Haveli and
() e fd) TRY S ATR T T 2 A {d] Dolomite Daman and Diu
P RAG-U-TAG/49D 22 |} DFRG-U-TAG/49D 23
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91. ﬁﬂﬁm&&a@mﬂaﬂm%mﬁﬁa%@m
i e am A fresd § offadem % el
Fram B S &7
fa) TR
{b) Hfmm
(e) ERA

(d) dFE

o2, Brefufa & A fra/Re AP di § adia
FqueA B &7

(a) Tom sifass
(b R ez o s AR
{o) Thear T

{d) afifEem stfess

03. HFa Wi & AR SifiEnEl Z0 9 a5l =
i fruss/fes 7w viefem aa 87

(o) Witemm

(b} urfirm

fc) weT

24

el 8
{a) foeat ER LS

...n\_ .mwﬁmﬂﬂﬂ..,nﬂ._ﬂm

(@) Pt g 3

o5. WA A 9% Wl W form gl mw_
A F w Ya wea ¥ T s
e 7
@) F-gm
by TEe-glea
() T-ghm ol -l -

(&) = < A - A

06. frefifga §f ¥ FH-W A wHIG
Teg-wr ) 3w 27

(a) @
(b) TR
fcj eTRiEET

(d) gk

94, ﬂam%&mﬂﬁi@ﬂ%ﬁ”
.u__

94. Silver artefacts get tarnished in air duc
to the formation of

91. To help decp-sca divers breathe, they
carry cylinders of oxygen mixed with

(g} silver chloride

{b) silver ox&\

fe} silver sulphide

fa) chloring

(b} :n:cu\
fc) nﬁaomﬁ‘f\\

{d} ozome f{d} silver sulphate

g95. Human cye can sce objects at
different distances with contrasting
illuminations. This is due to

92. Which of the following compeunds
undergoes/undergo  thermal decom-
position?

fa) Zinc oxide fa) far-sightedness

(b}

{b) Silver oxide and zinc oxide near-sightedness

{e) far-sightedness
sightedness

accomnmodation of .mwv\n

and near-

fe) - Silver oxide

{d) Magnesium oxide @

93. The transfer of electrical signals by nerve
cells in human body is enabled by

{a) mo&;i

{b) potassium

96. Which one of the following hormoncs
increases the heartbeat in mammals?

fa) Insulin
{b) Melatonin

{e) Thyroxine \

{d} Adrenaline

{c) iron

{d) sodium and potassium

DIFRG-U-TAG/49D 25 | P.T.O.



7+ R 3117 % S v Py g fem o 100 e g 3 R & T

#?

& 97. The digesti : i

i . gestion of fat in human intestine 100. The breakdown of glucose in cyloplasm
fa) Rfem () W 3N it ! s performed by ! results in the formation of

- a) trypsin
fb) T sk s (b) WIFEaT I FEH SHAFR 5 @) tryp {a) pyruvate and nsnnm__\.
' ! (&) bile and lipase
(c) 1o 3 whdis (o T ol SR {b) pyruvate and carbon dioxide
(@) P o {c) bile and amylase
fem fc} pyruvate and oxygen
(d) WFEAET 3R EIECAEC] (d) bile and pepsin o
98. WR-BR & e — o deat & ﬂ {d) pyruvate and nitrogen

FefaRmda FA-HT FuT T 27 98. Which one of the follewing statements

about animal e¢ells and pPlant cells is

101. %ﬂmmﬂmwgﬁﬂmﬂ&ﬁwﬁ

(o) Tl & 3aa Hfer-Rrgh 7 i correct? 101. Rafacl Nadal defeated whom among the
AN 2, PRE-AR T, w5 - AR, 2022 -_. following to win the French Open
Y ’ fa) Animal cells haye only eell Tennis Tournament, 20227
Tt § ae SifmE-fif mwm: .m.., ST R = membrane not cell wall, whereas
TR =St = {a) ¥q plant cells have only cell wall not {a) Austin Krajicek
3 cell membrane.
b T-EfEme § Fea Hi-fag (b A e _ i
Bt w__ FIfE - T, aEm uEn- ; __._ b} Animal cells have only cell {&} Ivan Dodig
BT 3 9 o 21 1 membrane not cell wall, bu
(¢ O T ._,n b plant cells have both. .\w\ fe} Casper Ruud \\
fc) WR-wifdmR iR wRT-wEEE A A o .
' 2 ? {¢) Both animal and plant cells have d) Joran Vliegen
pifre1- ) 2 il & &) (dj <A s cell membrane and eell wall, &

(@ Wi f wEE @ wfwe #

wRE-ff @d 2 ek Wt - {d) Only some cells of animals have

:
|
H
|

4 cell wall and all plant cells have 102. eSanjecvani, the free telemedicine service
HifsEe | %:ﬂﬁ.@@q Bt 81 102. NT@ G&ER T 3hafeim @m._ £ m&ﬂ” m_ cell membrane, of the Government of [ndia, was recently
: integrated with the
w1 T @ i s Wy m%_.m@ﬂ.ﬂ:u ﬂ_ in
99. THE UF Fw a6 B, O FRHAEG W . | 89. lymph is a tissue fluid present in fo} Ayushman Bharat Digital ZMW_EN
3 a7 S #1 47 fre wga g 87 fa) g=A wE fefea fam 1 intercellular spaces. It resembles to
| L = ) Aam Aadmi Bima Yojana
KIEETRC] fa) digestive juice
fe) (b) T e A _ g . |
fb) FifEE ot L {b) cytoplasmic fluid {cl Mﬂnrg Mantri Suraksha Bima
: ) cjana
fe) FuFRA Ren A A . .
fc) W {e) urine
i3 {d} Universal Health Insurance
(d) il {d) e (qea) @na Gt | S I {d) plasma Scheme
DFRG-U-TAG/49D 26 {4 DFRG-U-TAG /49D 27 | BT.O.
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108, W@ wEW T wa A 4 wow @ w105 WA . .
'SHRESHTA’ drsm % ait §f fy=fafm # A Fufa 1@ 103. f_w_._oﬁ of —Jn.ﬁo_uci_sn statements about 105. Who among the following is the auther
BR-T/BA-8 T w2 fa) SHRESHTA’ scheme, launched recently of the book, Tomb of Sand ?
B P by the Government of Indig, isfare
L % A ofim &6 3 o wga ¥ onl o) e correet? fa) Arundhati Roy
% for o foan 3 R () ¥@NE 1 ._.wa scheme is for residential {b) Geetanjali Shree
cducation for students in hj
2. MW Mﬁ%na aMm_ F Aud mwmﬂ_ et @ m&m@ aéhoot iy tiridicd et igh {¢) Chetan mwmﬁ\
oEW-ge e IR
w21 5 2, It provides for high quality {d) Jhumpa Lahiri
P anfaesn fn o cducation for meritorious but poor
23 106. THRA g Scheduled Caste students,
Eﬁﬂmﬁ%ﬁﬂ%uﬂ.ﬂ%ﬂ 106. Who among the following invented the
(o) S TChH flying shuttle?
Sclect the correct answer using the
{a} ¥ 1 ) AF code given below. 8 (@) James Hargreaves
o Tl B G (ECA {4 John Kay
{b) a2 @ {a) 1 c:.._v.\ . ;
@ wh 2 fe) Richard Arlowright
{5) 2 only
fe) 12 {d) Humphry Davy

107, e e < 2 7 1943 # 6T TG 3 (. Both' and 2

(@ A1 ewad 2 35 v H) wiqun Wl 1 o7 fd) MNeither 1 nor 2 107. Where did Netaji Subhas Chandra Bosc
i HEHR announce the formation of the
ol Government of Free India in 194372
3 : fa) Singapore
104. A @ & T Bl #, G TN A (b) T 104. In a recent judgement, the Supreme )
@ fu = AR e « Court of India directed that every (bl Shanghai
. frem aﬁ.mm_ﬁ IRl protecied forest, national park and i
mﬁm“u_m W, T IaH W IR SRS i i wildlife sanctuary across the country fe) wnzw._\. .
FA-H-F0 T AfaEd aRftafs gaemi . should have a mandatery eco-sensitive {d} Mandalay
3 (F-HRE FA—Fe o Wge) gm? zene (ESZ) of a minimum of

108, T ¥ fray 13 Ree, 1946 ¥ Tum

fa) 1 km starting  from  their

108. Who among the following introduced the

(o) Fht Puifm dm & 1 km o # ‘sova wera’ wegn e a7 demarcated boundaries ‘Objective Resolution’ in the Constituent
) 2 km starting | their Assembly on 13th December, 19462
rom i
(b} Tt Pvifm EM E 2 km 3 fa) TS T demarcated boundaries «\ {a) Jawaharlal Nehru
. ’ %) EEL fo 3 km  startin i ,
| s g from  their {6} Rajendra Prasad
(o fuife i § 3 kom am S0 o demarcated boundaries -
fc) o Ao TR . {c) B. R. Ambedkar
{dj 5 km starting Tom their
(4 ST @ Em @ s kam am {d) S FomeETE s demarcated boundaries {d} Alladi Krishnaswami Aiyar
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f Ty S
109. FriiRam YfmRes wensil w frem AR : 111, Pt # 3 Rl T TR ﬂaﬁ

oy
. 109. Consider the followin i : .
1 T-5EA gagha ) st e T SICt & historical cventg ; 111. Which one of the following  was
2. 3WUE Y wien 1. Gandhi-Irwin Pact composed by Harisheng?
X TEm i {a} Nashik Tnserips i
s . . seripti
3. <Rl § fram aken (b) FEEH . 2. Second Round Table Conference Balashri ription of Gautami
- Tt & EERIEA afed 3. P ; .
4. B9 ¥ Aram s c) : casant Movement in Bardor; (%) Prayaga Prashasti of
IR el puct RIS (q) T F WATH R % Peasant Movement in Khedq Samudragupta
Al | wH ﬂ_ﬂ_mﬂu_.m Which = fc) Deopara Prashast; of Vijayasena
A §0) Preforfan 3 4 Prem ¥ "eh one of the following is the correct .
fram v chronological order (starting from the (@ Mathigumpha Inscription o
. 112, Tefefad AR W s carliest) of the above events? Kharavela
a 1-3-2 frm < Tea
5 1 = et 112. Consider the &
. AR e g » ‘-onsider the followin 'CTItS @
{b) 4-3-1-2 2 .Wﬂﬁ_d— ﬂwnﬁﬂ A.ﬂuo Ho A#ov.ﬂ.._,_.aﬂ @ 4al-a0 : § vents
. ﬂﬂﬁ . ® - 1. Establishmeng of the Planning
3. o o Hle T TTA Ty &ﬁ.w_ (b) 4-3-1.2 Commission
fe) 3-1-2—4 SEHRA fc} 3-1-2-4 2. Formation of the National
Eakirr Development Council (NDC
(d) 1-2-4-3 4. i g W () 1-2-4-3 (NDC)
g 3. Approval of the First Five-Year Plan
srgw w1 WE g ﬂﬂﬂ@i” by the NDC
H-w w..u 4. Constitution of the National
' i Pl L i
110. gfefe W % ar § fefsfw ¥ A ) 1-9-3-4 110. Which of the following statements about Raning Condmittce
BT RA-Y TR g R/ the Unionist Party isfare correct? Which one of the following is the
Y 3 correct sequence of the aho ts?
1. ¥ Y & .ﬁw_ﬂg H Tl A by 2-1-3-4 i 1. It was a political party representing aue . . g ot
R T8 e ws werifE T ) () 4-1-2-3 Wﬂmamnw...sqnmﬁ of landholders in {a) 1-2-3-4
farrer R A B} 2-1-3-4
2. TR NI mmqw... m..nﬂﬁ_ {d) 1-4-2-3 2. It was opposed to the idea of JW\
Fa % fam s fawg ol the partition of India as India e} 4-1-2
and Pakistan,
X & 1-4-2-3
A R g g2 B T ED SR g 113, ferifa # 3 fre 35 8 & Bfn g . .
. Zelect thé correct answer using the code . i
) st T @it given below 113. Which one of the following battles could
(@) ¥l ) be seen as laying the formal foundation
| (a) T 1 AT T i of the British Raj in India?
fa) 1 only . 3
e 3 fa) Third Battle of Panipat
te) Em.2 (b) T IR 2 onl
{b) 2 only {b) Battle of Plassey
fc) 1 ¥R 23E fc} =FEL T TS {7 Both 1 and \ fc) DBattle of Buxar
d) A1 RAA 2 fd) 1857 1 Tme fd) Neither 1 nor 2 {d) Revolt of am\\
i
30 | DFRG-U-TAG/49D a1
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114, 2fim v # wel BRa

e i ﬂ;m
1639 & wmm @ @ W) T N
e w?

fa) TR
b) FRETEAT (MEEH)
(¢) FTAERI

fdj AR

115, PR 3 e-m/ad o Y

L iR e el A S
= e e e ) T

2. reR T T 1498 R G
R fo e 9 i = @l T P
fa) =1

(B) Fad 2

fe) 132

@ ad1AwA2

116. ﬁam%ﬂwﬂaﬂu..@wﬁﬁw%

S e 9§ B wa H el ¥ g ST
(i ) o T R &, RN F

(@) A (R )
(b) =T i (3 %)

() =T o R T T 4R
) e () s oy (3iE)

DFRG-U-TAG/49D
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fa) 1,233

(b) @ 132
(c} T 3

(d) ¥ 133

114. Where in South Ingjg

115. Which of the followin

—.__n— —_uﬂ ulﬁhmr mﬂmﬂ
—n._-.w_ﬂ_. 0.0:.%9:% nﬁ_nm—_.._.u.n a -qﬂn__ﬂ ost
t
D

fa) Cuddalore

&} Madraspatam
fc¢; Kalahasti

fd) Karwar

& statements isfare
correct? /

1. The Dutch Eagt India Company
was formed after the formation of
the British East India Company.

Vasco da Gamg reached Calicut
in 1498,

Select the correct angw

) er using the
code given below.

fa) 1 o%

fb) 2 only
fe) Both 1 and 2

{d) Neither | nor 2

116. In India, a cultivable land which is left

uncultivated for more than a year but
less than five years is labelled as

{aj cultivable was _E_mb.ﬁ

{b) current fallow
fe) Tfallow other than current fallow

fd) barren and wasteland

DFRG-U-TAG/49D
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117. The major portion of the Great Artesian

Basin in Australia is located in
fa)] Western Australia

{b) Victoria

fe} Queensland

{d} Northern Territory

118. Which of the following statements isjarc

correct?

1. India has one of the longest
navigable inland water networks in
the world,

2. Inland waterways presently help in
transporting about 25 percent of
the total cargo movement.

3. About 111 inland waterways
have been declared as National

Waterways under the National
Waterways Act, 2016.

Select the correct answer using the
code given below.

fa) 1, mgnx

&) 1 and 2 only
fc) 3 only

fd} 1 and 3 only

[P.T.0.



Fl
21, 9T : .
5 e AR A ] whd, A W R 115. Mateh List-I with Liat-)g and select the 121. The commercial unit of electrical cnergy
119. Tl B G-Il 5 W F (K correet an ) P
| fardl % AR g R 2 A i R = G g s ”“E_x. using the code given is kilowatt-hour (kWh), which is equal to
ol HD% 3.6 10 sts ;
]
qM : fa) 3:-6x10°%9
3 List-1
3.6%10 . List-if
ﬁl— ﬁm...ﬁ v (b} {Raitway Zong) (Headqua rters) {b) 3.6% 10% g
- W L
ﬁaﬂw 3 (go fe) 10 A. East Central 1. Gorakhpur {c) 108 J
A &.H_.—H 1. _nmm _‘Daw 1J ] B. North Eastern 2. .H_m.mmu._.:.. r\\
2. A 1 [ 1J
B. dm_ﬂﬁm . v 3 .,wpv : C. Northeast Frontier 3. Hajipur
C. I gl HRW % R 122, frdl ) TR u.om_w_ a7 e D. North Western 4. Maligaon 122. Which one of the following statements
D. 3 afim 4, wrefia m_%.ﬂﬂﬁﬁ% B regarding a current-carrying solenoid
. o & i A e ...a...... Code : is not correct?
T (@ fra1 21 {a) The magnetic field inside the
@ A B ¢ D 52 m—.m.ﬂ % fal A B ¢ p solenoid is uniform.
3 4,1 2 (b) T Mﬁﬁ_ 3 o412 {p) The current-carrying  solenoid
A B .C D SHAER : B A B ¢ b .\ behaves like a bar magnet.
= 4 2 § afx % @ IERE & s 3 01 4 o ‘ o
3 1 ¢/ UM = g {e) The magnetic field inside the
gaF & 3 gf% B 2 ; solenoid increases with increase in
@ A B C D f A B C p
2 1 4 3 %%wﬂ%ﬁm%ﬁ 2 1 4 3 current.
{d) ; iy . . .
, & g RE] .u.«nm._ {d) Il a soft iron bar is inscrted inside
f(d A B Mu w M«M.__ .mm”d.: E q) ,..wf w _w w. the solenoid, the magnetic feld
2 4

remains the same.

Eo.%m@m%%mwﬂ@@am.@%é Eu.ﬂwﬂd&ﬂ_ﬁﬂsﬂ.&ﬂ,i@g.

120. Which one of the following statements 123. An object is made of two cqual parts

AT TR uF W & ETE py 2 3R g® AR ﬁﬂ about carthquake waves is not correct? by volume; onndﬁm_.w U»mnnnuumqaﬂ_m mb.n
g o =127 the other part has density 2p,, What is
it dim T 8w € ol awEE W 2o ¥ TG H (@ P waves move faster and are the the average density of the object?
fa) Mﬂwﬂm_iﬂw 5 first to arrive at the surface.
5 fa) 3pg fal 3pg
i . ) P waves can travel through
{) P m, T sk Sm vad q TR 3 gaseous, liguid and solid materials, 3
ek ket b Im.uo {b) Mbo
. ; {¢) Seismographs located beyond 145°
() @R ¥ 145° A R fEm pe-ad from epicentre can record the \\.
P 01l % AT A T W THA € fc] po arrival of P waves, e po
(d) P ot ¥ At 49, 756 o 49 d 1 fd) P waves have maximum area () 1
el =pgy : 3P0
Wi & 2 covered under its shadow zone.
DFRO-U-TAGI45D 34 DFRG-U-TAG/49D as [P.T.0.




127. 98 @R ¥ awa (F9) i afs A .m___ﬂ_u_

A presaure cogk
el 3 124 ST cookg f,
124. dar R G weE) S 3 e A R I ® Tood fater by 127, When the pitch of sound increases,
fa] incrensing the boiy, which onc of the following increases?
X ienl water Ung  point of
(a) <@ % T § gha T B (o} b .‘\ fa) Intensity
(b {6} decreasi
. in .
(b) V& % TR TG FR (el ] wiites g the beiling boint of (]} ro_._n:nm\
fe) Wavelength
(o) % e R (@ (e increasing

t E

. water . melting  point of {d) Frequency
e S F WY

(d] =& T g & B 128, frefataa A B wm-d, W

sl

o 4 {d) moanmew the melting poing X 128. Which one of the following is the correct
water reactivity series with water?
() w0 > A > W >
) 3 = a) Zine > Iron > Lead > Copper
125. Feffan § & dw-w wod, WD ) o > T > i > W ‘
ToTee % g o ¥ 125. Which one of the following wavelength ) Copper > Lead > Zine > Tron
{c) W > > w > € corresponds to {he imﬁ?sm..ﬂw ’
. 3 X-rays? of {¢) Copper > Zine > Iron > Lead
{a} 500 nm . (4) > W > T > U { ;
) ’ fa) 500 nm {d) Zinc > Copper > Iron > Lead
fbj S000 nm e v 3 Al
Frefafaa § 2 #A-H 9] :
129. A b} 5000 nm 129. Which one of the following metals floats
feg 100 nm ? in cold water?
c) 100
@ (a) BRI fe) Am {a) meﬂnumcﬂ\\
nm
() fewm : (@) 1nm, 7 {b) Calcium
. fc) | {c) Potassium
. W g 7w 220 V F@ @ g R0 R __ , .
126 AME S v e 600 mA &1 T A (d) A 126. An electric bulb js connected to 220 V (d) Copper
s/ " ) generator. The cumrent drawn is
fererdt R =~ 600 mA. What is the power of the bulb?
130, fifafas 3 4 fm faerm # fomge =R & | 130. Which cne of the following solutions is
@ 132 W v 2T &7 (@) 132 i not capable of conducting electricity?
(a) HR G et {a) Copper sulphate
() 132 W .
(b) Wfeam eiEs _ () Sodium nzﬂm\a\
() 1220 W () T € 18209 () Sugar .
{d 13200 W (d) WifEaH TRgAERS (d) 13200 W (d) Sodium hydroxide
DFRG-U-TAG/49D 36 DFRG-U-TAG/49D a7
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131, Friia 6 ¥ aft § foffe 4 2 eh-w

134, @R am AT farm-Yan % 9K 5 *®

. mt 31, Which on

T G T A7 s §, AFE B about ot the o,

_%M 5@ .@ dﬂ.&d .nﬂqnﬂnv n___uz_-n.ﬂﬁv_n -...5“ a_m_ﬂ__sn#

(o) TS R i e (3 ) o () WM 12 tocks ;o ew 133, What will happen If you are gy;
e gl (A wdw) | W b (m) w12 &2 am & ol fa] Duc o Segrega across the International Date ﬁwvgz
S B _ way ion of
a imw 0 o e (o o 24 @3 Al 3 gq,_m h”wgh X Emswﬂ into (@) You will lose 12 hours

T 0 hi K]
@ 0 @ 9 wwda.&._ _.orbro_..m. TPhic focks QS.M_MW. fb5) ‘You will gain 12 305.,..&-

b) Wl I gt i (f) % {5} Wh .
™ 1 fywRm = E, 7ol wgeie g | m:n%._.o_u the folati, {e) You will gain 24 roi

: ' . ,atien
SR FI e R 135, fiefif & @ fr 307 30 3 T Ty metamoppps, 612 o 0D (@) You will lose 24
d gl Tphic ands ours
o it (TR M) T R hard. Tock g oxqu.,am“n
T AW Yo T €, a6 _ Y 135 The py -
. . ‘ M
wﬂmﬁ % 9% & w0 § witw @ @ {a) VA fe) .ﬁ.ﬂﬁaz“:a ©liationg g p, g Eacmvaﬂanwzw_“” hsmn amwoﬂ_um
€l » NIC metam, Oderately Aftican countries?
) wetfe | to flake apsy. T Fock tengy

d, . . fa] Morog

(d) Mﬂmﬁ%_ ﬁﬂm Tft L ﬁmﬂ@ AR fe) el ; J fd] Rocks that s o
» W13 FERR ZT0 Wifewd §9 £ i _ composed  of onmsmf were (B} Algeria

{d) A Minera] € dom;
Engoawﬂs often m.o_mman_sw_”..h {c Zaw\.
182, Fraffen § 4 S ‘i (RenR)’ 9 . @ Gh
A R YRR (Bew) A v e ¥ 186, d__g” ¥ ﬁﬂwm? " ﬁﬂ&ﬁgﬂﬁ 182, Which one o
il ‘discontinuitiey’ ¢ lollowing  136. Piecing toeth .
7 i sepa § ltogether the puzzle of geol
fo) e #dl A F i 8 : _ crust from the amau_“w,a the Barths time to create and mpawwﬁc rwﬂwmmm
) AedRfw (o) g (et fa) Gutenbesg,~ .00 e Facth s o ay
AR o {a) climatol
(c) F (o) ORI ( i) {b)  Mohorovicig PeoClmalolegy
(g (Rrfae) | o o L] uanow...osoﬂ&omwﬁ\
(d) @R g, womrag () paleolithols
B By
(@ o (e} il (d) Repetti

f {d) paleogecgraphy

133. Fmfalm # 4 fag 1 25-w 78 9l ¥ T

133. Which : o
goe ol the Rliowing cities of 137, What is the nature of velocity-time

Haﬂnﬁﬁmﬁ@%ﬁjgﬁwmﬂ

& o Yaw a0 @1 vfefifye g &7 th
[ |
q v T mﬂ@ RN : | ¢ world msca vanmnsﬁ the greatest graph for a car moving with uniform
. . : linear velocity of rotation of the Earth? fon?
@ : . . 3 acceleration?
HHeH, el n .
o e 4 {a) Hampala, Uganda {a) Parabola
# e deal, w8 fb) TR (PRe) _ R ;
N v (b) St Petersburg, Russia fb) Logarithmic
Q 1 o . -
fo) gz, Rk 3 f) Madrid, Spain {¢) Straight H.Fm\
7 . i 3
{d) w=iwem, Wi {d) =TT 1 {d) Stockhelm, mﬁ%:\ {d) Exponcntial
_ |
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I
!
. A R D T . The amplitug
138. @R Wl ¥ wm 9 ek gfEl { o e 142, =@ 3 A7 & = A Freaifer _y_,_ 138 measured ip w o Soupy
¥ w0 B | ©unity o Maves g
3 fa) pressurg~” 2. E_HM: one of the following statements
ol =m () =@ A A el &1 “ {b) distance fbout speed and velocity is correet?
L 3 g
) time fa} Speed and velocity both a
© W @ w3 s TR ﬁ ﬁ quantities, o vesto”
j {d} speed
(] fcj == s af & 3l 3n g TR Ry _ {b) Speed and velocity both are scalar
_ 139. Acurrent of 06 g ;o a quantitics.
139. Bft Ry o= 7 10 e % R 06 AR (@) < iR ufn & o i wRa Th g Bulb for 10 minygeq o % an elecgs, . .
ura & SR R vimy | R g waried @A following is the o " 2ch on of the 9 Speed s vector quantity and
h Amount o velocity is sealar quantity
TR g, T ) A Rt § 3 W= charge that flows throygy of clectric .
i b 4 @ 6¢C the cireyipp {d) Speed i
g | peed 15 scalar ti
7 S quantity and
@ 6c 143. Fi@ AT fmurg 27 op et m....\\ velecity is vector quantity.
{t) 06C {a) Cu 3R Zn {c}] 360 C
{¢) 360 C @ 36cC 143. Bronze is an alloy of
(b} Cu 3 Sn
{d} 36 C fa) Cu and Zn
140. A DC generator works g .
) X fc) Zn 3N Mg A the principle o
140. DC 9w fagia ® #d %@ o (@) Ohm’s law . 5} Cu and Sn
{a) 04 =1 Faw {d} Fe 3R Cu {b) Joule’s law of heating f¢) Zn and Mg
b} @ % v T FEm {c} .m.mnmnm“w_m laws of aHnn:oHPaaan\ (@ Fe and Cu
(G W2 ¥ faga g i % P induction
. § A fog waw § fFeen-va 7
(@ veiw E A R 144. wMMme L {d) None of the above
! 144. Which one of the following salts doea not
. 141. The presence of magnetic field b possess water of crystallization?
141. fr=fafaa & 4 fem 93 & WM w0 gk (o) W T determined using which ong _Mn&”
& ) gefufy = P fan 0w 7 following instruments? {z) Potassium permanganate
fa) (b} Hren e (= fafEe) {a) Ammeter
e {b) Blue vitriol
() diedtE {b} Voltmeter
fo) U F : {¢) Washing soda
fc} M_ﬂ%ﬂ ..Qm {c} Magnetic _ﬁon__.{.
id) H L () RREE {d) Motor (@) Mohr's salt
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(a) TEfE o=
) R s
f¢) AR I

(d) HiTH =

146. Foe WM A R 6 91 9w FOI
T (ARGA) & R e s 82

(o) IR W
{b) =R
(o wHT TRAEEES |

() R e

147, T HEAE Rt € e e
fa) 5
® 4

c) 2

{4 3
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a6 @1 i el TTE T A 5
149. ﬁ%ﬁ e B R R S A
it e frr ST &7 ;

150. CHg Fre) gordi A 3 wfier &7
(@) T
{b) TR
fc) YeHrE
() aﬂ%ﬂu

42

146. Liquid vegetable oilg are

Bee sting leaves gp
. a
pain and irritatjon, ‘_.:Mh”n_ﬂ_.__nr
Teleaseq 1q
(aj tartaric acig -~
{b) citric acid

{c] cthanoic agig

{d) methanoic aciq

converted tp

solid margarine by the wse gf

{a) hydrogen mm..w\
{b) chlorine gas
{c} carbon dioxide gas

{d} oxygen gas

147. The number of structural isomers of

pentane is

@ s

(b) 4

fe) 2

@ 3
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Calseg

148. Vapours of sulphur escaping from a
voleane often form a crust on the rocks.
The process involved is an cxample of

fa) condensation
{b) precipitation
fe} deposition
{d) evaporation
149, Dry ice is used on a performing stage

to produce mist in air. The process
involved is an example of

{a) sublimatien
1] n._.ﬂnon.m.m\
fe} condensation

{d} precipitation

150. C,Hg belongs to the homologeus seried of

(@ alkanes”

fb} alkenes

fe) alkynes

fd) cycloalkanes
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